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1. Critically evaluate opportunity cost of theory of International Trade. 14
OR
(a) State Stolper-Samuelson’s theorem.

(b) Discuss Rybczynski theorem.

2. Explain various factors affecting terms of trade. 14
OR

Explain J.S. Mill’s reciprocal demand theory with Marshall’s offer curves.

3. Discuss the economic impact of tariff as partial and general equilibrium. 14
OR

Explain market distortion as an argument for protection.

4.  Discuss trade creation and trade diversion in the theory of Custom Union. 14

OR

Discuss the International Monetary System.
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5. For the following each question, select the best answer and write only its number (a, b, ¢

or d) against the question number in your answer sheet. For example if the answer for Q.
1is ‘a’ then write Q. 1 = a. 14
(1) When one country provides most favoured nation status (normal trade relations)

for another, it agrees to

(a) charge that nation’s products a lower tariff than only other nation’s.

(b) charge that nation’s products a tariff rate no higher than that on any other

nation.
(c) charge that nation’s products a higher tariff than any other nation’s
(d) exports to that nation any products that it wants to purchase.

(2) All of the following are fundamental to the World Trade Organization excerpts :
(a) Dbilateral tariff reductions to promote trade liberalization
(b) the use of the most-favoured-nation clause (normal trade relations)
(¢) non-discrimination in trading relationships
(d) the prohibition of import quotas and export quotas

(3) Following World War-II, the United States and other countries sought to liberalize
trade among each other. The first major postwar step toward trade liberalization
was the
(a) General Agreement on Tariffs and Trade
(b) World Trade Organization
(c) Smoot-Hawley Organization
(d) McKinley Agreement on Trade Policy

(4) According to U.S. trade law, maintaining “normal trade relations” with another
country is also known as providing
(a) most favoured nation treatment
(b) trade remedy treatment
(c) safeguard treatment
(d) escape clause treatment

(5) The European Union has achieved all of the following except :
(a) adopted a common fiscal policy for member nations
(b) established a common system of agricultural price supports
(c) disbanded all tariffs between its member countries
(d) levied common tariffs on products imported from non-members

(6) When several countries jointly impose common external tariffs, eliminate tariffs on
each other and eliminate barriers to the movement of labour and capital among
themselves, they have formed a/an
(a) Free Trade Area (b) Custom Union
(¢) Common Market (d) Economic Union
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(7) Developing countries that concentrate production in agricultural products or raw
materials may face a long run decline in their international terms of trade because
of

(a) inelastic demand for these products in advanced countries
(b) large increases in the supplies of these products on world markets because of
export expansion policies.

(¢) sluggish demand for these products in advanced countries
(d) all of the above

(8) The movement to free international trade is most likely to generate short-term
unemployment in which industries
(a) Industries in which there are neither imports nor exports
(b) Import-competing industries
(c) Industries that sell to domestic and foreign buyers

(d) Industries that sell to only foreign buyers

(9) A tax of 15 percent per imported item would be an example of a(an)
(a) Ad valorem tariff (b) Specific tariff
(c) Effective tariff (d) Compound tariff

(10) The effective rate of production
(a) distinguishes between tariffs that are effective and those that are ineffective
(b) 1s the minimum level at which a tariff becomes effective in limiting imports
(c) shows how effective tariff is in raising revenue for the government
(d) shows that a particular tariff structure makes possible the increase in value

added in percentage terms for domestic production.

(11) If the world price of steel is $ 500 a ton, a specific tariff of $ 50 is equivalent to an
ad valorem tariff of
(a) S percent (b) 10 percent
(c) 15 percent (d) 20 percent

(12) If a tariff and import quota lead to equivalent increases in the domestic price of
steel, then
(a) the quota results in efficiency reductions but the tariff does not
(b) the tariff results in efficiency reductions but the quota does not
(c) they have identical impacts on how much is produced and consumed
(d) they have identical impacts on how income is distributed
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(13) Import quotas tend to result in all of the following excepts :

(a)
(b)
()
(d)

domestic producers of the imported good being harmed
domestic consumers of the imported good being harmed
price increasing in the importing country

prices falling in the exporting country

(14) In his empirical tests, Wassily Leontief used an input-output table to
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(a)

(b)

(©

(d)

calculate the capital and labour required to produce $ 1 million of U.S.
exports and imports.

calculate the labour productivity of American workers relative to foreign
workers.

calculate the capital productivity of American capital relative to foreign
capital.

all of the above




